1. 
	A
	[image: image1.png]




	Б
	[image: image2.png]ST





	В
	[image: image3.png]




	Г
	[image: image4.png]





Відповідь:  Г[image: image5.png]



2. [image: image6.png]Po3TawyidTe B NOPAAKY 3p0CTAaHHA YMcna; 230, 320 710




	A
	[image: image7.png]710, %0 310





	Б
	[image: image8.png]o 3o 0





	В
	[image: image9.png]2% 3%
A





	Г
	[image: image10.png]280 71030






Відповідь:  А [image: image11.png]W _ (a0
3

&

0707 2829, Tomy T < 2% <30





3.  [image: image12.png]Qi




	A
	64

	Б
	48

	В
	32

	Г
	16


Відповідь: А [image: image13.png]2
T2 ipaaasl
er.

2 F

3 _giese82_08 _ g




4. Прямі a і b паралельні. Знайдіть градусну міру кута x, зображеного на рисунку. [image: image14.png]120°

40°




	A
	50°

	Б
	60°

	В
	70°

	Г
	80°


Відповідь:  Г
5. [image: image15.png]B tpuxyrauky ABC £C=90°, AB=5 cosa= 08 3naiitu BC.




	A
	4

	Б
	3

	В
	2

	Г
	1


Відповідь:  Б [image: image16.png]AC=AB cosa;, AC=5.0
fs Teopewm Miparopa

BC = JAB - ACT, BC =5 -4 =.[25-16 =48 =3

4(cm)




